Math251 Worksheet 6 November 11, 2013

1. [EC 12.2.16] Compute [}, 22y dA where D is the triangular region with vertices (0,0), (1,2),
and (0,3).

2. [EC 12.2.26] Find the volume of the solid bounded by the cylinders 224y =r?and y? + 2% =
2
re.

3. [EC 12.2.{40,42}] Evaluate the following.
(a) (/61 /le 23 sin(y?) dy d
8 2
() Jy ij v da dy
4. [EC 12.3.6] Sketch the region whose arca is given by the integral and evaluate the integral:
/2 pdcosO
'[0 Jo rdr df

5. [EC 12.3.18] Use polar coordinates to find the volume of the solid bounded by the paraboloid
2 = 14227+ 2¢* and the plane z = 7 in the first octant (where z, y, and z are all at least 0).
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